                          CASE 1 :

   totsubs = {e1 -> 1/2192, e3 -> 1/166, b1 -> 1/7, b2 -> 1/6, b3 -> 1/5}

       sx0 =  

  {0.36355935230570955169499195822665925431412698948883224663808833`47,        

   0.36355792156107695600163869661570788125001200999468392870504664`47, 

     0.33997470865419838121350228307724506045939247672783964930202097`47, 

     0.3399724434738790564674191639553016875617163530096829671872796`47, 

     0.29643191137326178406538927467126386342186112141261122783876741`47, 

     0.29643111920908892002165868254745483525718381369426829902081221`47, 

   2114.677906486031569940856282056464204619170992421603641300229`47, 

   2114.17572248896199830809083907403374662020305879186099375874907454`47, 

     2293.15606257715583792686273728056330997901542779749534676923`47, 

     2292.293952283614195160992237181871682289086596555011724384934`47, 

     2746.150880243345944602979082078941338236413551221517111968566`47, 

     2745.789787197058250730930956830171588176501355760391215191482`47, 

       13.`47, 14.`47, 15.`47}

    pp = {0.3635458240261748, 0.33996306643187385, 0.29642441745726816}

        ptot = 0.9999333079153168

  shapval = {0.3468253968253968, 0.3349206349206349, 0.31825396825396823}

         shapvalexact = {437/1260, 211/630, 401/1260}

   Probabilities of the various coalitions forming in the process:

    23coal = co1 = 0.3521597723247086

    13coal = co2 = 0.3397346289481023

    12coal = co3 = 0.3081055987271891 

